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Oracle IMANED W TREI, BRIAJIPRIORITY NONE,
CREATE/ALTER Syntax
PRIORITY NONE
PRIORITY LOW

PRIORITY MEDIUM

PRIORITY HIGH

PRIORITY CRITICAL

Description

The database populates the object on demand only. A full scan of the database object triggers
object into the IM column store.

This is the default level when PRIORITY is not included in the INMEMORY clause.

The database assigns the object a low priority and populates it after startup based on its positit
Population does not depend on whether the object is accessed.

The object is populated in the IM column store before database objects with the following prior
database object's data is populated in the IM column store after database objects with the follo
levels: MEDIUM, HIGH, or CRITICAL.

The database assigns the object a medium priority and populates it after startup based on its ¢
Population does not depend on whether the object is accessed.

The database object is populated in the IM column store before database objects with the follo
levels: NONE or LOW. The database object's data is populated in the IM column store after da
following priority levels: HIGH or CRITICAL.

The database assigns the object a high priority and populates it after startup based on its posit
Population does not depend on whether the object is accessed.

The database object's data is populated in the IM column store before database objects with tt
levels: NONE, LOW, or MEDIUM. The database object's data is populated in the IM column st
with the following priority level: CRITICAL.

The database assigns the object a low priority and populates it after startup based on its positit
Population does not depend on whether the object is accessed.

The database object's data is populated in the IM column store before database objects with tt
levels: NONE, LOW, MEDIUM, or HIGH.
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